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Guidelines for the Candidate Time

1. Additional 10 (Ten) minutes will be given tothe students to fillup the students'information before the

startofthe exam.

2. Allquestions are compulsory and carry equal marks. Thereis no negative marking. Use of calculator
isnotpermitted.

3. WiteyourName, Roll Number and Class clearly on the Answer Sheet and donot forget o sign.

4. Thereisonlyone correctanswer hence mark one choico only.

5. Darkenyourchoicewith HB Pencilor Blue /Black Ball Point Pen only. For Example

Q16:  Anumberhas nine ones, sixtensand eight hundreds. Whatis the number?
"y 889 (8) 8%

© 98 © 986

As the correct answer is option Nos (A), the candidate should darken the cirle corresponding to 0ption No- (A)
6. Roughworkshouldbedoneinthe blankspace providedinhe booklet.
7. Return the answer sheet (o the inviglator at the end of the exam. The question paper can be

retained by the student.
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[image: image2.jpg]SECTION | : LOGICAL REASONING

1. W::iﬁh is the ninth object ?
=

eStesTH
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2. In the given picture grid which word describes the position of 4@
() Top centre
(B) Top left
(©) Bottom right B
(D):Contrs)left

Eiméilﬂ]

5]
=l
=

3. If you look at this object from the top, what will you see ?

i

®) (8)

© B  efF N
4. Look at this pattern : A 4 OAXSAXS

Which is the missing part 2

WXGA ®AAA  ©KAA  okAk

5. What is the least whole number you can make using all the following digits ?
351
(A) 135 (8) 315 (c) 531 (D):35%

i

6. The Tigers scored fewer points than the Dolphins but more points than the Eagles.
Which team scored the most points ?
(A) The Dolphins (B) The Eagles
(C) The Tigers i (D) Botn Tigers and Dolphins

7. Rohit has the given amount of money shown here. (EITITIT)]
If the prices shown include tax, which of the following (ST
shirts can he buy with this money ? &0 @@

“‘"ivf*")ﬂ ® gmo (© z T @ %1145
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[image: image3.jpg]8. Look at the given Venn diagram.
How many are hearts but not green ?
"3
(®) 4
© 5
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9. Rahul needs a new toothbrush and some \'ombmm Colours | Toothpasto Flavours
toothpaste. He can choose from the toothbrush
colours and toothpaste flavours shown in the
picture. How many different combinations / / /
of 1 toothbrush colour and 1 toothpaste

flavour are possible?
(ZEE (B3 ©)s @ 8

Bluo Greon Mint  Cinnamon

10. Third grade students made maps of Main Street. They used symbols for each office
building, park and house.

Main street
Office Building

Which equation could be used to find out how many more office buildings are

there than parks ?
@3+1=0 (@ 4-3=0] ©3-1=0  ®1+4=0

11. Which of the following figures is similar to the given figure?

@ P o | o 5 CE

12. Which number sentence matches the given picture ?
(A)3+5 (B) 15-3 é%)
W &S

13, Lookat Gaurav's timeline. Whathappens  C1ean8 ¢abin  plays sana Goos to
after Gaurav cleans the cabin and yeflefbal Iy
before he plays sand volleyball?

Swims In
(A) Gaurav goes to the campfire pr o] B s
(B) Gaurav eats dinner i

(C) Gaurav swims in the lake.
(D) None of these GAM 3AM 10 AW 12PH 2PH £PM SPM 8PM 10PH A
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[image: image4.jpg]14. Parul put 70 plastic cups in the first stack, 80 plastic cups in the second stack,
and 90 plastic cups in the third stack. If this pattern continues, how many plastic
cups will Parul put in the fourth stack?

_(A) 100 (8) 108 (©) 106 (D) 107 5
15. How has this figure been transformed ? H
It has been ... H
(A Reflected (8) Rotated (C) Translated (D) None of these.

16. Which instrument would you use to find out how long will the train take to arrive
at the station ?

£,

| = © s (o) S
_Cok Tmceettsigen |, _ Tepsosues _R e
17. Yesterday was Wednesday. What day is tomorrow ?
(A) Thursday (8) Friday (C) Sawrday (D) Sunday
18. Look at the given pattern.
COYOOYOOY
How would you show this pattern using letters 2
G ®) A8 () ABC (D) ABB

19. Diya spent 1 week at a summer camp. What is the total number of days in 1 week?
AT Br2kteas - ©5s B = S(Dj8e

20. Look at these numbers 6 71 78

Which two numbers in the box have a sum of 1377
(A) 6 and 66 (B) 71 and 66 (C) 6.and 76 (D) 66 and 76

SECTION Il : MATHEMATICAL REASONING

21. If a month ends on a Tuesday, on what day does the next month begin?
(A) Thursday (B) Monday (C) Wednesday. (D) Tuesday

22. Which of the given shapes represents a rectangle ?

@ YRR © O © A

23. The distance around the middle of the Earth is 2757 kilometres. What is the place
value of the digit 2 in the number 2757 2
(A) 200 (8) 20 ©2 (D) 2000
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[image: image5.jpg]24. Pulkit is having a birthday party. His mother told that he could divide 31
stickers among the 4 friends he has invited. If Pulkit gives each friend the sami
number of stickers, which picture shows how many stickers each friend wil
get ?

(Al (E) © [j

25. The length of a shirt sleeve Is best measured in
(A) Inches (B) Milimetres (©) Lires

26.12345678910111213 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 3
3132 33 34 35 36 37 38 39 40
Shally crosses out the numbers she says as she counts by 5 (5, 10, ...). Next she
will cross out all the even numbers on the chart above. Which one of the following

number will she NOT cross out ?
() 20 (®) 23 (© 35 )38

27. What Is the missing number that makes the number sentence true ?

[2] +19+7=33
(AcE= ®) 7 . ©8s () 59

28. There is % cup of milk in the measuring cup as shown in

the adjacent figure. Supriya poured % cup of milk out of

the measuring cup. How much milk is left?

&z 2 3
(A) 3 cup B) g ©) 700 ©
29, What is another way to represent 6,204 ?
(A)6+2+0+4 (B) 60+20+ 10 +4
(C) 600 + 200 + 100 + 4 (D) 6,000 +200 + 4

30. Which letter can be folded in half so that its sides coincide?
@w @N oL ©s

BO080
OO80
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31. What fraction of the group of boxes is tied with ribbon ?

) )

(©) (D)

®lo el
lwie alw




[image: image6.jpg]32. What digit should be placed in the [| to make the given problem true? 4 g /h

) 0 (®) 6 +2 3
. (Cl:S3e e RS O T — _  TEES
33. Which is closest distance from point M to point N on the number line ?

(A) 5 units (B) 8 units " N

S SRS EE R E e

(€) 7 units _ (D)6unis 15

34. The clock shows the time 12:45.
What time will it show after 45 minutes ?
(A) 1:30 (B) 2:15
(©) 1:45 (D) 12:00

35. Shweta saw a 3-dimensional figure. It had a round shape, like a ball. Which figure
could Shweta have seen?

WA

Cyfinder _Cone

36. How many oranges

one cube ()2
() 8 oranges
(B) 2 oranges
(C) 4 oranges
(D) 16 oranges.

37. The given graph shows how many Bags of popcorn sold
bags of popcorn Riya sold in the Day Number of bags of popcorn
Ppast 4 days. On which day did Riya |Wednesday. 529
sell the most bags of popcorn? Thursday 585
(A) Wednesday (8) Thursday Friday 582
Saturday 552
_(C) Friday (D) Saturday

38. 1 am greater than 250 but less than 280. When you add my first and third digits

you will get 9. Which number am | 7
Wosr qeyase v (©) 279 (0) 269

39. Which sign should be placed in the blank ?
(52 ___26)+8=10
AW+ = EE (O)i s D) +
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[image: image7.jpg]40. Study the two given Iracﬁuns. Which of the following is true?

2 e 2

W 3Z>5 ® 5 2, 2 2 i3
2 2 2 O

© 55 (D) Can't say

12

SECTION Il : EVERYDAY MATHEMATICS

41. Rohan and Arjun played a basketball game. They scored a total of 10 baskets. If
Rohan scored 7 baskets, how many baskets did Arjun score ?
@3 ®5 ©7 © 9

42. Monali has a garden having 5 plants. Each plant has 4 tomatoes.

Tl

When she was watering those plants, she saw 5 red tomatoes in all. What fraction
of red tomatoes are there in all 7

5 il 63 4y
@5 s © 3 o) =
43. A teacher and 17 elementary students went to the art museum. [, ARLMISEU

The prices of tickets are given on the chart. Which of the
following equations should be used to find the total price of
the tickets?

Wexar17=C] (B) 17+4+6=] (C)6+@x1=[] () 17x@+6=[]

Adults |2 Geach)

Students| 2 4ach

44, Komal wants to buy dog treats for her 4 dogs. At the pet store she sees the boxes
of treats shown below. Which box of dog treats should Komal buy so that each of
her dogs can receive an equal number of treats without any treats left over 7

©) @ © @

£=3 £=3

45. Karan collects stamps. His stamp book holds 20 stamps per page. If he has
completely filled 4 pages of his book, which of the following could be used to find

the total number of stamps in his book ?
_ (m20+s  (B)20-4 (€)20x4 _ (20-+4

46. Romesh has 19 eggs. He has 2 empty egg cartons that can hold 12 eggs in each
carton. How many more eggs does Romesh need to fill the 2 egg cartons 7
WGt B2 (0% T LSt s
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[image: image8.jpg]47. Ms. Sang ’s class went on a nature walk. They kept a record of all the things
they saw. At the end of the day, they had seen thirteen different kinds of trees,
twenty-one kinds of flowers, seven rabbits, thirty-two birds and twelve squirrels.
How many animals did the class see on their walk ?

(4) 85 (8) 51 (©) 34 © 19

48. Nikki is making two pizzas. She has 12 pieces of Pepperoni and she wants each
Pizza to have the same number of pieces of Pepperoni. How many picces of
Pepperoni should she put on each pizza?

() 8 ® 10 © 14

49. Carl Faberge created fancy eggs for the rulers of Russia.
A museum plans to show some of his eggs. The eggs will
be shown in glass cases. Each case will hold 3 eggs. If
27 eggs are being shown, how many glass cases will be
needod?

()3 @9 ©2 (0) 30

50 A snail can crawl 30 inches in 1 minute. If the snail crawls at this speed
direction for § minutes, how far, in inches, will it travel 7
(A) 240inches  (B) 180inches (C) 36 inches

(L)

SPACE FOR ROUGH WORK
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